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12.6

↑Mt+MNt
(a) Xt = e

dXt =MdM++MdNt
+Xt de CM,M)->
+IMXtd<N,N)+
+ XMXtd<M,Nt

= martingale + (t*wt +E2x +MM(t) Aedet

#[x] = 1+ SoCIRUs+tMes +AMP) ETXs]ds

f(t) =E[Xt], f(0) =1

f'(t) =(EMCt+EMEt+MMpt) fCt)

=>f(t) =uSx0 + tMes +xMOs ds
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12.1 W: BM. TP, Xt= tWt.

dXt = tdWt +W+dt
- (X,X)t=So

-
sds=

Quadratic variation is invariant under

equivalent measure changes because

<xt is defined by the limit of

=

(Xti-Xtit)



to under , (X,xt=*t.

·X is NOT a B.M. Under TP.

2021#6

EstWeSoTwrdr]
=>Is Two Swear+wtrar]
= ws.Swrdr +E[we(war)

+witusar]

So** =xwed
5xax = 1ydy

= SotzdE



2010 #1 ht, ot

dSt= htStdt+WtSt dWE
I

deSt=rStdt+OEStdEt

C SE(r - E)ds+SENsdErs
ST =St -2

-r(-+t[(S+ -k)+7Vt =0

- r(T-t) sec-zds +so= e[(se

#rsdes = Srsars + Swsdirs
= v(Ex -x) + 10x(E+

- Ei

~N(0,v(π-t)+ 1005(T - T))
->ind of Tit


